MEBR
FER314E3A31BBRE (B M)

#E BN Be Beat
EHEHTFINE 51,313
H 4 TRIOHIERT 7 7 (R (31 A%
fﬁ/fiﬁ/f ﬁ% %ﬁimﬂgﬁffjﬁ?%%%(sﬂ FHIASY) 11;222 7,005,961
AT 4
T WBFAS: | ZPIEHT/ IR S E L@ TS | 6,842,948 7,170,051
- TRV 4y B B BLR R (RTHEA N9 77,320
A AL E EENRIENBRAZSFE 84,240 164,090
- RS TRk (MR AT A B R ) 2,530
/E_E; LAY RE (EHATRS) FFNFERAT/ IV 35 E TR 4 3,000,000
D R A 9% B 616,304
G [ 7 P = 58.781 3,867,666
B g Tay ey — 100,497 250,862
A SRV 91,584
& E A 11,037,717
BRIV T T (RBE (B1E3 A Z A 5Y) 1,500
FAXIEI#EFEHEH ) 4,876
A2 B — Nl E k(B H 47) 5,130
F—bN' =V L AYVTy 7=t 2 (2H 57) 2,700
F—bN' =V AYVTy 7=t 2 (3H 47) 2,700
AARGERTL 74T 7 40— 7 R AL 70,392
(3/16, 3/233ZHi45y) ’
FUeATE, REEE OB (CEAB0E10~ A3 143 H 47) 26,049
R U AT R TR CERB 13 A 4) | 39,960
PREEGERTE EFHHTR T T4 7 IEB)E) CER314E3 A 47) 19,440
Feoe i (FAT - & 7)) CERR31ELA ~3A 47) 13,200
. B EEHEEE (B 11,828
B ARHLE: ST Ly (BE = SH) (@121 X 3,00080) 38,880 | 0709228
~ KERZLT AT Y~ (@26 X 3,0004) 84,240
£ =T HUTR—R Q2B I A 91,800
& AN HSEAR 97,740
D TERMTRT T TIEEN AT A8 FEH(2 A 57) 691
gl IR T4 7 TR B A AR (34 49) 1,139
AR (A4, 558) 6,750
TERITRT T4 TR = AGE R (2~3H %) 4,254
ORI - RAEFE - T LT F RS (2H ) 447,894
ORI - BT A T LB F TS (A D) 482,915
T B OUEHES IS S 27 (LS, KIBSA 55 eI | 51,840
X4 GEARF) BEREANS 2,463,310
A4 SR FE 4y i — D — IR HE (244:45) 60,000 60,000
04 ?)E%T%Wﬁfﬁ%%ﬁ(%fmih?ﬁ 4. 2THE5Y) 106,968 179,368
EBBTED D5y CERR304E12 A ~ R 314E3 A 45, 184£5)) 272,400
5% 4 VRSV ER T T4 T BEHED 4y 110,200 110,200
BEEE 4,518,796
(C) IEMRRIPERR 6,518,921




